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      .   
 

1. (A)      . 14 

    
     
  (1)     (IDBI) 

  (2)     (SIDBI)      (UTI)  
 (B)         : 4 

  (1)        75%   . 
  (2) 19 , 1969         . 
  (3) .   –            

 . 
  (4)        . 
   

2. (A)   ,     . 14 

     
      ,     . 
 (B)         : 4 

  (1)   –   = ________ 
   (a)   (b)   
   (c)   (d)   

  (2)  _______    . 
   (a)  (b)  
   (c)  (d)  

  (3)   ______  “     ” 
(FRBM)   . 

   (a)  - 2004 (b) 2003 
   (c) 2011-12 (d) 2007-08 
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  (4) _______        . 
   (a)      
   (b)   
   (c)     
   (d)   
 

3. (A)        . 14 

      
    ,    . 
 (B)        . 3 

  (1)     . 
  (2)     . 
  (3) .        . 
 

4. (A)    (  ) 14 

  (1)    (SEZ) 

  (2)  - 

  (3)       

                
       ,      

 . 
 (B)    .  3 

  (1)           ? 
   (a) 1995 (b)  1991 
   (c) 1980 (d) 1985 

  (2)  2004  2009         
    ? 

   (a) 51  (b) 100  
   (c) 75  (d) 49  
  (3)      ? 
   (a)  (b)  
   (c)  (d)  

__________ 
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1. (A) State the achievements and limitations of Nationalized Bank. 14 
     OR 
  Write a short note on : 
  (1) Indian Industrial Development Bank (IDBI) 
  (2) Small Industrial Development Bank (SIDBI) and Unit Trust of India (UTI) 

 (B) State whether the following sentences are true or false : 4 
  (1) Central government’s contribution in share capital of regional rural bank is 

75 percent. 
  (2) Fourteen largest banks of the country were nationalized on 19th July, 1969. 
  (3) According to Prof. Crowther, the entity which accepts the deposits on 

interest and borrows the money on interest is the bank. 
  (4) India’s finance market is divided into three sections. 
 
2. (A) Explain the meaning of budget. Explain the various concepts of the budget deficit. 14 

OR 
  Explain the concept of deficit financing. Discuss the effect of deficit financing in 

India. 

 (B) Fill in the blanks by choosing the correct option : 4 
  (1) Fiscal Deficit – Interest payment = _________. 
   (a) Primary deficit (b) Capital deficit 
   (c) Revenue deficit (d) Fiscal deficit 

  (2) Budget is divided into _________ sections. 
   (a) two (b) three 
   (c) five (d) four 

  (3) The Parliament of India passed the law of “Fiscal Responsibility and 
Budget Management” in the _________ year. 

   (a) July 2004 (b) 2003 
   (c) 2011-12 (d) 2007-08 
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  (4) _________ expense is included in non-developing revenue expense. 
   (a) Defense expenditure and interest payment 

   (b) Rural development 

   (c) Irrigation and flood control 

   (d) Social services  

 

3. (A) State the causes of poverty in India and discuss the remedies for poverty in India. 14  

OR 

  State the meaning of unemployment and explain the form of unemployment in 
India. 

 (B) State whether the following sentences are true or false : 3 

  (1) Absolute poverty means perfect poverty. 

  (2) There are three types of rural poverty. 

  (3) Dr. Minhas firstly presented the concept of poverty line. 

 

4. (A) Write a short note : (any two)   14 

  (1) Special Economic Zone (SEZ) 

  (2) Advantages and disadvantages of Liberalization 

  (3) Foreign Investment Policy of Government of India. 

                          OR 

  State the causes of unstability in the prices of agricultural product and evaluate 
government polices regarding for the prices of agricultural product. 

 (B) Choose the correct option :   3 

  (1) From which year were the important changes in economic policy 
implemented in India ? 

   (a) 1995 (b) July 1991 

   (c) 1980 (d) 1985 

  (2) How many percentage foreign investment was approved in single brand 
retail by the government during the year 2004 to 2009 ? 

   (a) 51 percent (b) 100 percent 

   (c) 75 percent (d) 49 percent 

  (3) How many ways of privatization are three ? 

   (a) Two (b) Three 

   (c) Five (d) Four 

__________ 


